>0
—=

2015 112 172 aled

TV-

Ol

M201208 19

TV 12
LA
40 XZEA

SIC)

00 OFEM =EEHY

)

00 MZ0[0F7| Z2+ A+

20 NAFIAOIE

@ ©

30 Ol 2HLk2 ZLICH

10 L= SAI0[CHAH)

@ @ @6 0 0 8 @ &

20 ZCI7HA| 7HERY

30 OILH7H ERTHA)

B B8 860 6
o
o
b
n
>
|>
H
[ M
ar
[>

05:00 EBSe &30
05:30 Z1ZBIOHy

05:40 45 YA
06:10 EBS Pl=Zst EZ(M)
07:00 2foIC| |1

07:30 HEHE =z
07:45 257} &2

08:00 S5 221
08:10 Why-Z/1Ct S7|ATX]|
08:20 I3 FRIH2
08:30 FLICHS(RH)

08:40 &Y RAIH3
08:45 IFF IR

09:00 Y2 o T

KBST

00 KBS mAZE

=

50 2zt

~
021

25 OrFoIg
30 KBS 74

00 2X0|E=0{EMQ
55 EEUIE

00 o= MG 71 EA
30 H=SHRIE

00 KBS wA 12

=
50 ST ()
55 AIERIZE QBIAH=NA
00 F= 8t AEX 28
TEL EHERRE))

55 EEYEAZ

00 259 &
10 20N MAISCZ

00 KBS A 5

20 =g DLt

40 2= X278

00 6A|L4TE

55 AIEXIZE QEAEHA

00 KBS A7
30 AIAGE O
55 RBCIEIR OAR!
25 Uoia
(218 BER)

x %I_
00 EMKBS w29

00 AlAV7IE) &

55 & H

00 KBS A

10 FOOITf Z2HE
AMZHO] Q

35 SRS COfHRE)

09:40 E34 22 <04 N 2)

10:30 AIZXIQt &lHIGH=
219 e2lH|Z

10 O @5

:20 MIAIEIOL |3 (xH)

:00 EBS 32 7A

:10 EBS AMO|A 27?2

105 XM e

10 AN ZIZNE

50 RA7I9| QOA[A
100 5IZMOl It
:30 SPHEEHE EEE|
:00 mOp HSiAt g1

EBSSHAT

00:00 SEEZA  (ZO-LTWIHE)
00:50 ~ 1. Basic Grammar-junior

0140~ (23T
02:30  ~ COIFED)
03:20 ~ 3ty

04:10 SBRIZA FII2M OIHEID

05:00 wEAH (2]
06:00  ~ CHF st
06:50 ~ (SOLAIOFAD
07:40  ~ (2ol A
08:30  ~ (MRIESh
09:20 ” (et=RI2)
10:10 SEIZA FHEANY  (fet1)
11:00 7 BAZ (438! 1H ()
12:15 ” (22|24 AaE(RH)

13:05 £5E4light

14:00 SBEA (Z0-LWHEXR)  07:30 9-72 35 AIFHHIZZ (£ 3-2)
14:50 ~ 08:30 ATAHA AICHHIZ AL 15:50  ~ (£84-2)
{11l Basic Grammar-junior>(X)  09:00 ZH& 48} EBS MATH 16:20 48t 5-2)
15:40 ” COIMEI>(R) | 09:10 TVES o2 16:50 ~ (8t 6-2)
16:30 ~ &) 09:50 (EEHA)Y 17:20 =Skt HERT|
17:20 SEEA HIIEN R 10:30  ~ QALY 17:50 OHR @5

COIHEIDE)  11:10 ~ (20{(3)(4)> 18:00 TVES (201 5,67
18:10 FEAHR AEIESh(A)  11:50 ~ (8 2(A)) 18:40 ” (e (A))
19:10 ” (SOIAIOR(R)  12:30 AlEF(7t0|1E 19:20 =33t HIAAL
20:00 EBSAEIZAL EZ 13:00 Y2 Mad a8t
21:00 45 light (Gol-=71>  13:10 SYANB (L8 (Bh
22:00 359 g 13:50 B8t &7H7 |12 AN O
22:30 ZIEHMO| WipA0| LIQ= SulEst (IkeH-2>
23:05 7 EAH (SFERIZD(RN - 14:30 SYAB (£E2(6h>

mkde 2¢ @ £ M|

40 M2 s EBS MATH

(Z0i-=at>

KBS?2

00 2TV oL 1~2%

00 KBS OF wAEHY

00 TVAA
(20| &/0f JLE2[)
40 ORI

40 NFEFA

00 200l HILAA(RH)

05 1CH 100(xH)

10 MK ZANEER)

00 KBS wAEY
10 Myl 2=

05 2EA YO{HE! =(xH)

30 ASBHAY 9P|

00 TV RAIA

30 0|2& PDQ 22[21=

712 ()
40 S22 MAI
00 VJESTHR)

00 KBS =2=%24
30 2TV MY HMEE1

50 & caint
(CHEEHOD

30 2TV MY AMEE2
55 104100

00 st=ctit
(2O HlHA)

10 223U xS

35 AXX GI0|2H0|E

EBS 1

15:15 WOF|A OFO| 3
15:30 MIAIAL AIZHOIEY

*O0| T2 WaA AFEO| Tl b2 4 9

MBC
00 MBCHAELO]
{~2H
10 BZMBC FAEH|
50 MBC OEIE a0}
s 520
30 MEts 95 01

00 Xof2t AJA=TVAHA

00 MBC 82wA
20 TV&Q TV
20 A

05 LHHOF 2=
30 F217] AlAtud

00 MBC mA

10 E=57|12A2

55 MOE

25 MBC 2LE47|8]
(OLELH GADH(H)

00 MBC 0|2 'rA

55 MBC LS 2l
(OIECH2 G4
30 CIgAER =

00 25154718
G 92)

o>

LICk

KBC /SBS

00 ZHQMOIE 1~28

30 KBC 2'520|=

25 CHE{ 365
30 ORI @123
O L oj=2])

10 £2 0K

00 SBS A

30 SBS 4EZH

10 KBC MEtRA

30 CrE{ 365(KH)

35 OIMEICt ST HO|7} 7iT
00 SBS 12454

50 CHEf 365

00 5 23iA

00 HIESIFSE n9io| 2OICt

00 SBS ®A

10 Y10 A= |
AABIA0127

00 F2i7| T4 AlE

30 LiOSQl 3 8mA

00 SBS FAm|0|=
15 KBCKY FA

30 EHER N

00 Mo} A5t

05 EE1365

10 KBC ¥4 =00l

10 AIAFELX] [CHCPRALCH

20 ZUCa;
(E0k= &==)

00 SBS8 A

35 KBC 8 A

55 SBS RAEL|

00 EAr26FH E87|8
(E0|LIEAD

10 PDY 15 SE=8E
05 MBC 424 35 LIOIE 22!
15 MBC 1002 E&2

20:40 Ct7 @&

15:40 20|t X+
15:50 22| Fo/=f L)

16:30 IFA CIEMX)
16:45 HsY

RAIEI~3(R)

17:30 HEWS W=z

17:45 257} 2
18:00 A4
18:45 MEHE ZE #+I
18:55 Mut& EIE| HI|5LI4
19:00 olC| KXY

19:30 EBSHA

19:50 J3HNQY

A48 RIAI5] dmEH 23] sfdle Zord 4 9lg Aol

60 DR loLE SO MEfFA] 2 Bt 72

HY 2

s
ot

7  EFHE A2 A0 4 B=9] JIE ZiE = TR 5

P71 QIE

N I

75,83

07:00 =7

Ab AISICHH[Z 5

20:50 MIAIEIDE 12

(@46t O|AS BHITE

ZELlop

21:30 ot=7|%
S ELPIEY
s=22))

21:50 EBS CHRZ2tY

EI=I L5 ~3

0|R A8 LZHE

g of H X}, RE 5O AiE=S
22:45 2|3
23:35 T A

24:05 XA 7 Ze(r)
24:10 EBS Q=3 £&

EBSSziA2

15:20 =5 7|23 = |

20:00 EBS 7|=lEZ

20:50 EBS 7|EAl2|=

H 21:40 EBS UCC 3= LiT|C|

22:00 B B¢H-7|2 A |
(2fe2-2)

NE17L(E 10 62 THE)

4234 ZFOHHH ZRIG0] A76kA E A0/ H4E 5
off 2 Hieh FRithe] SHgol] SRt 664 2k 3T

of Hi

0] &0 Hjof & W7} ST

S T A0 ol 7884 FrIA = SHLIE i

SO
#20

XA 118,30

492 R DR R E3iE = &Kol OfELE 61Ed
5] & Ok= Zolet o= A ES Eew= AL 73 dRs

5 DUORESZWAUS 4R AT 85N EEY A0S 5
Hom QILLie), 20| 27 55, 04

43

LA 2HK

Lo =

2 01 27180] €A] 2Lt 67

2 Q1= IRV S AVILE 5534 7]
A 550] Of FIRIO) )

Lo T

oA HIZHEAL. 7984 7191S Atk &7]2 o flgE Al
TAZP710] SRS

W29 At ¢ 31,37

b
I
0

T =2

& R0 ZAIRH AL 5084 ALRH S50
A&g BH=Tt 624 913 Q47HEOL] OFHO] RH0ILt 74
Al

44 glo] 1t s

o7l 2 S0] QlLiek 868 Al g

Y2 27 :

05,95

44

LAA =%

LLO &

S B8 s k.

I SoI5HA 8 AFF 71817 Ol 56LA
gs gekior =82 SAE
28 9S D20 AT Ef

22 WL, Q04 SIS S

4 -Lel 6884 A

A2 XA - 39, 51

39 S0l =S T Ei8AT gall/h E A0l 51 @

AR BRI T Q= 9

OIC}. 6314 THRMIIAO] Al

g Ik 7554 Q0] HlHHE 4 Qs ORI BBE L) 87

& Sxifet Zs ofdsiA L.

29 2%t :

84, 43

B 4 i Wolr, 5764 ASE

HIE Tldish 0]l A 2 oIt 6934 BYAlol 253] 510

e 202 RH Zot AR A} HOIT

AlQ, FH6HH FO0J Hejd)

S1Ed T &
(¢]

| A+ - 89,25

.
A2

40EY TS Helg Wovt ) 528y U=s &9
F0iA7} E Zl0ILk 64
g TeoMEsise

2Vget QuiE 2 L.

M
(e]
[e)

2 gt
WS WX ZHTR ZER0 4
colo} BT, 7644 KI TRSSIF g

HRO| 27} :

16, 56

46 TRAT} siEE 240] HOlT) 584 4% SH9
4 Tiohe 0] FgAoILE 7084 A= 488 AT0]
CHSIEEH: Afe Bt 7IRl= S20] QI 8244 e

H

ze ge

ST 2w

Sl HolTh

i
W2 A 1 12,65

Y BHS WO T2} 32 Hoteleh 5364 ZEH
sl Q0L AREH MSE S QL. 65
B 2EE Qoo H8s

e gl QAL 7T SRR &
8

20l 2% -

N

29,17

A7 Ol HZF I g ERLA E A0l 598y B2
Op7]%] B She Z10] Wtk 1EY TEmeie 5ks2 241

71 SR Bt 838y 0] SITH

A7Ial & g7t il
“TSHEE BRSLITEL d5aE SA8” ®010-9790-8237

T QHF AHA] 231 7]EHgIO]

W29 A1 73,79

MBC ‘€344 9] &2 33U 54 3 o AR

Al=0IM ThE 29171 dAIE. 24 2 21, 271K =
Sl Aufet Aotk

MBC TV7} ‘14 & oty €502 Q= [8URE &&
she Al == S gl s Gt FARRIA E 25
9l o5& HOFHHE dE=29Hg8¢10] T %1 A0t

149 A “FARRLA OM = 15stal EES I 16l
FS=A Asstnol stohs Isut 75 AFAs dVId
JEoe olfolE o 7189 T8 E, Al Al gs o=
VS TS HE Gle S4IH EA REiG-E AVISH.

ZEL =0 7] Al tRwet TaelE AEuior shal, d
EHIE 27| 215l T 1 o] Thel SlEo 2 HIEIH &otoret
L}, “H =20 FEF~ " ol 1 & BE 7SS HY
A=} BRI FollA 24 ke B, EelaAet e
4] Hol X197 Yot ATk e Tl 159 2HY
OFRS0] 4fol Hat Hghks OPAFELE

22T GO 7I3 02X 9] e B4 52 AT 2007
d g5} ‘ROIGH AIAS] S427t HOlE H Ith 371 E2
HAAFEOIM 7H5530F POlolAl &otk A 4UHE “LOfet A
APl =2 7V ARl 1oLt EU 58 OIFA ZJCh It
A 2He=?

HaddE Mgl VIES Yol dal7] fl6l ZHxE 0|
=e ol =7 712 &S vRAE, gk U ME ok
Qloth Z=AjolA 9] YA = QIEiZR 400H 719 A2 5F7T
S 1l AlEE 2 dEettt.

AR “EHla JAl 715E 1ol XI5l &ok7= of
HAIOTAIEH - 22450} == of=9] AlAIol w5l QITH
L] oL OHHAIek= TI=L 1 otoldugke 532 =9
J8Ee Aot 2O HH oA ARl = 380] 7hset

A& B 270l SR

1682 &2l AAER0N ES= “RFE ko Al
OfLLFE 2k AR A= Al gA1 SThe 33 f1eke
FARE FR0IA (22 BES) FAA] A TRIE ofgolth
71542 ojoprloll =Fo] BRAE T fHE € + e
Z70letal By,

FARRLA oA = E20] FolE LgE g8l o
oll= A1 RAIQ SHAE AFY Wi71H & Be=th

82 “Al &, FARRLR o[ujx]7} QL0 L7F o
o) eelel] ok ANTIZY HiEE St 230 1
Ol THE0] HE AnIQIL, §E27H 2OI6IANAL o EHSH
TP 31 AT

Ol JEzE “FARRLA FHIZA THA] oF &1 2
A, Fd=e HoE + AR ZeTMAlth. e s+ Ae
EORE O] 7ITH AL, =0 87 ot A QI 2l BT

wdale}t R0l 55 o]5e] Felos EAa 7 Aes B
Lk 87 loke dese B Uhvet 18HRIE O
ARG 2= A B2 €2 oksit 9 2HieE
FIEO] TR HHO| ARG S019tof U] #1l Fo| S
Y2 5 e 4doke & 42 ot

TS el AARZOIR 71 O] X o|=d& &Vl
OITE Shel QI 2 OfT] 7he F=e EXlE, #7198 o]
£ 101 ol G Tl DA E71E . ol LIERLFRA] “2eb
9] 45 EI2T.

ARl “Ett f53 ofeZ0] HA ATEL STt 7t
&g oot Aol glog S=aU 1l 98T 7Hg O 2 THA] B
oLt IrgE Hojas HXle §H 0T E S0jU 7159
4Ees M B} 1l SR

A AAE 007TAHE)

Sh=dst ‘Ee ARSI SEIRE 7] AlglzE 007 &
HEV7HAL FE S8V S AE0IIT

1o okt g Sl mM=H A ARS'2
Al 13~ 159 T= 11097020l 1283382 & FH 1082
BB (MEA H7a 48.7%)s EATL

At 59 7hE ol 119 BiAul A FEe FAlokl 9l
O 4] I = AL (159 71K 3502H 1010 ST

WAL SAML O] O] SO A= 8t AHE +
Sl 1l 5ok 7 AR OO 12 Jaith

007A121 = 2489 F3tQl 007 ABE' = A 2 ARSH
A= 11057120IAT 12H49722] SHEHA] 828186718 (37.5%)
Of LU}, D7 F=5:82 == 118T5199F O],

k= 0074121 AR F o] HEHE! ‘AHH @} 007
] thigde IR thd 20127t AlglAa 2EE 23
11, 00741212 712t ) 2|11 SIS Al Al W~ &
=O] XA HI7HEE &AL

TR 2 71 SET710182.5%)0] eeshy =88 &
XIS OIOIKITE 4] B2 o= 484TH695E0] O] =EITH.

AiE Gt OlEE HARIE Jet Wso] EAL e
HOT A ARSTH 477898 (2.3%)S AT Al 10€ Af
7NE 012 7K 74 8 = 130195358 0] o122 i
g et Az sdo St Tt k= il QITh

Ze 7k AgHTIe & B4V Ridsket got ‘Ao
HEIAIQL o= Add] Jat ‘1=0Ith & 242 3T82435 (1.

FU2A] WA

. 19
§ 10891 9371H

(HRE 48.7%)

291
g2t 8671%

(HRE 37.5%)

™~

FM ; . 5 MHz
ST |||J |‘|\|..||‘| | >

SISO dgehe 28/ UENT FdsR=
SEE0] 2 289 7=l 169 BT

SRS A 0d 42 HESSHQILI=RE
FM 97 5MHz(SE5 3 HLEL, &9 1kw)Q] Ful+E Higgt
1 7l=& THIGIRT

=, o, EY, 118, 5hs, Holl 5 dEsFAY 7FEdE U

1002HB0IAl A1t 108 19 7H AleldEs S&otal AT

Al S0l THE A AFS-2 AR B AR R, S0
EAEE dF o, Slae JY FHEakto] AXIFITH

10 O

—LC]:]]-/Z\
O

289 AHsFAY 7=

N=&E5kaetal= 279 2% 7AI 30% ol-2utu]oik g
Ak D=0k 2 S=dte gy 488 5585 olglo]
S SOl oFgHl ATk

289 @7F 7A] o4 sl=Hol = HolA 8- AA B 71wl A
FQ QIARSO| Folohs ZTHFAIOHIE A F @ Al &
SRESSES0N 7= dile SS4e IdE olgoltt.

718 AFgE “1oEte] 0] B0 SEE EATHFH
‘SEEEY 7= Soll JSFAY0 =329 Al HEo]
=015 A2 7|thett 1 $SiT. /AEfRA



